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Note: Answer any five questions:
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1. What is process?Explain process states with a dmgram Wwhat anﬁhe various fields of PCB.
2. What is critical section problem? Describe the solution using semaphore for readers-writers
problem _ oA =2 =
3. What 19}PC¢Egp!a|n the concept of shared memory model taking producer-consumer problem as eg.
4. Explain the benefits of multi threadeﬂ programming. Also w{ﬁ'lmn different mulfi threading models.
5.What are monitors?Describe the monitor solution to.the classical dining philosopher’s problem.
6. Consider the Tollowing set of processes. Draw Gantt charts showing the execution of these processes
USIRE ©
(1)FCFS (i1)Preemptive SJF (iii)Non Preemptive Priority (iv)RR (Time quantum = 1 Milli sec).
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Note: Answer any five questions:

‘/1. What is process?Explain process states with a diagram. What are the various fields of PCB.
2. What is critical section problem? Describe the soiution using semaphore for readers-writers
problem

~3.What is IPC?Explain the concept of shared memory model taking producer-consumer problem as eg.

~#Explain the benefits of multi threaded programming. Also explain different multi threading models.
5.What are monitors?Describe the monitor solution to the classical dining philosopher’s problem.
6. Consider the following set of processes. Draw Gantt charts showing the execution of these processes
using :
{i}FCngS (ii)Preemptive SJF (iii)Non Preemptive Priority (iv)RR (Time quantum = 1 Milli sec).
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Compute the average waiting time and average turn around time in each scheme and thus find the best
schieme in this case.

Process Arrival Time  Burst Time Priority
i 0 05 4
e 0 01 2
£3 i 10 3
rd I 01 1
P5 2 02 3

7. Consider the following set of processes. Draw Gantt charts showing the execution of these processes
using ;

(i) Precmptive SJF (ii)Non Preemptive SJF (iii) Preemptive Priority (iv) RR (Time quantum = 1 milli
sec),

Compute the average waiting time and average turn arcund time in each scheme and thus find the best
scheme in this case.

Process Arrival Time  Burst Time Priority

Pl 0 10 3

P 1 0l 4

B it 05 3
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Compute the average waiting time and average turn around time in each scheme and thus find the best
scheme in 1liis case.

Process Arrival Time  Burst Time Priority

Pi 0 05 4 2
P2 ) 01 i -
Pa 1 10 3 P E
Pq | 01 ] &
Ps i 02 3

7. Consider the following set of processes. Draw Gantt charts showing the execution of these processes
using : .

(i) Preemptive SJF (ii)Non Preemptive SIF (jii) Preemptive Priority (iv) RR (Time quantum = 1 milli
sec).

Compute the average waiting iime and average turn around time in each scheme and thus find the best
scheme in this case.

Process Arrival Time  Burst Time Friority
Pl 0 10 ) 3
P2 1 01~ Eﬁ( 4
P3 1 i 3
P4 3 02 |
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